46

Stann y

1443 #&Es7
High Speed Cutting Bar Fine Boring System

1. #$BCM ~ BRM ~ BIMIREBRABMEIESHIVIERIETA) - #1IZHHIEREEBCM ~ BRM ~ BJM °

2. 38 NEFX/EBCM ~ BRM * BIMIERB(E T7) - BEE6IEH -

3. liedEtkE(Em8) & {FIEETERE -

4. #%BCM ~ BRM * BUIMIIERABMBIZZ2HIVER (BT B)FE R 11%4% - TNEEBCM ~ BRM ~ BIMB A RARY » TEE 18R -
. TUEASHOIEM » SRR EN A2 3IE R - [EPFE4IER o

CHRKETRERIR TR IRHEE » FEFA/BEENLEHDERRRIEIE - EERR I EHERM -

. BCM, BRM or BJM put into the measure instrument, tighten bolt 1. (Fig. A)

. Dial Indicator move to BCM, BRM or BJM, tighten bolt 6. (Fig. 7)

. Indicator make zero. (Fig. 8)

BCM, BRM or BJM put into the measure instrument, loosen bolt 1. After adjust tighten bolt 1.(Fig. B)

. Loosen bolt 5, adjust cutting insert holder. Increase size adjust bolt 2 or bolt 3. Decrease size adjust bolt 4. (Fig 5)

. The size show in dial indicator is radius.
(r-2=D) D+BCM, BRM or BUM=Boring Cutting Diameter

After, tighten Bolt 5.

]

oCURAWON 2 O



Stann y

=2RESL)
High Speed Cutting Bar Fine Boring System

47



48

as B8

suring, Shank

A & 28
Adjustable Measuring
" FEIE BISEEE -
ST i1 S AU o
Order No Model Diameter Range Boring Range N.W.
: oDMin~gDMax DMin~@DMax o
45900000 |ABM1025 10-25 11-43 0.55
45902046MI |ABM1025+Mitutoyo 10-25 11-43 0.69
45900810MA |ABM1025+Mahr 10-25 11-43 0.73
L
DM
N
o »\/#«
o B ) %
? al
C
Eig
Shank
gy | omes | RED e L« T cuiEmE | B " % =
Order No. Model oDMin-aDMax Insert Holder C-NUT B-Bolt Wrench N.W.
45901010 |BCM1010-40 11-14 40 10 10 96 90 MR/MK 11 NUT6 SLCS-M3 T8 0.050
45901212 |BCM1212-50 13-17 50 12 12 107 100 MR/MK 13 0.087
45901414 |BCM1414-55 15-22 55) 14 14 127 120 MR/MK 15 NUT7 SLCS-M4 T15 0.131
45901615 |BCM1615-65 16-23 65 16 15 139 130 MR/MK 16 0.178
45901616 |BCM1616-65 17-23 65 16 16 139 130 MR/MK 17 0.184
45902019 |BCM2019-80 20-30 80 20 19 159 150 MR/MK 20 0.324
45902020 |BCM2020-80 23-33 80 20 20 159 150 MR/MK 23 NUT9 SLCS-M5 T25 0.341
45902524 |BCM2524-100 26-40 100 25 24 199 190 MR/MK 26 0.661
45902525 |BCM2525-100 29-43 100 25 25 199 190 MR/MK 29 0.668




ABM+BCM+MR #E3L7]
Semi-Finishing Boring System

F4HSET ABC1143 JREN.W. 7.0 kg

STE#RSR : 45901143
Order No. 45901143

o5 2i2toE TS

211~14
DM40

DM50  g15-22
DM55

B

9

Z0

i

£

e
SSYTPII:

VIO (TR
9-sT9TINOg LBS I]

216~23
DM65

917~23
DM65

XQTVI00VIT ( 0
69-9T9TWOg LY

XETYT00VIT KTLBIC
08-6T0zNDg LUUBIS

XGTYT00V9T (\
08-020zn0g LUBS

X8TVT00Y9T ( T
00T-v¢SeN0g LUuet

DMS0 023~33

XETVYT00v9T (‘
00T-G¢GN0g LUUBIS

RS &%

DM

49



peed Cutting Bar Fine Boring System

4HSET ABR1143 ;REN.W. 6.3 kg

STEHRSR : 50171143
Order No. 50171143

j08H)

G9-9T9TINYE

XETVI00V8T (MO8H)

0S-6T9TINHG

X8IVI00v8T (OH)

€9-7Z9TINH4G

XATVIO0VT (i

DM100
PS. 552 P53, 59.
PS. Specification please refer to P53, 59.

50

DM



STEMRER : 16171143
Order No. 16171143

BJM+MR (HNBJ16P)Si®iE3, ]

FYHSET ABJ1143 JBEN.W. 6.5 kg

PS. 552 P53, 89.
PS. Specification please refer to P53, 89.

¢ 15~22
DM55

XATVTOOVET (STCENH)
sevTeticy Cms

¢ 16~23
DM40

¢ 17~23
DM65

0SG-6T9TNCH

XGIVT00VST (9TCENH)

¢ 20~30
DM50

¢ 23~33

DM80

€9-VZ9TINCE

XETYT00V8T (9TCENH)

¢ 26~40
DM63

DM

¢ 29~43
DM100

51



52

d Cutting Bar Fine Boring System

W
oi ‘ D e E @—-mks
. X sl °
EREMIA 8
Carbide Shank DM=7xC
Hth A8 c X d B PE
Order No. Model Shank N.W.
45071007 |SC10M5-75 75 0.069
45071010 |SC10M5-100 10 100 5.5 SM5BCM10 0.098
45071015 |SC10M5-150 150 0.149
45071207 |SC12M6-75 75 0.106
45071210 |SC12M6-100 12 100 6.5 SM6BCM12 0.140
45071215 |SC12M6-150 150 0.216
45071410 |SC14M8-100 100 0.190
45071415 |SC14M8-150 14 150 8.5 SM8BCM14 0.300
45071420 |SC14M8-200 200 0.410
45071610 |SC16M8-100 100 0.254
45071615 |SC16M8-150 16 150 8.5 SM8BCM16 0.377
45071620 |SC16M8-200 200 0.517
45072015 |SC20M10-150 150 0.589
45072020 |SC20M10-200 20 200 10.5 SM10BCM20 0.802
45072025 |SC20M10-250 250 1.006
45072515 |SC25M12-150 150 0.922
45072520 |SC25M12-200 o5 200 195 SM12BCM25 1.253
45072525 |SC25M12-250 250 1.575
45072530 |SC25M12-300 300 1.908
DM ‘
‘ o] E ¢X4J
O gRN2-200 ﬁ (a) %
BFRERCD/=7pEE7 | X 1
Exchangeable Head BIT
mmms | mis | SARED g | s E | s | mF |8E
Order No. Model . Flutes Carbide Shank Insert Bolt Wrench | N.W.
oDMin-oDMax
31081416 |SM8BIT1416 15.7 24 0.026
31081417 |SM8BIT1417 16.7 25 | SC14M8-100 0.027
31081618 |SM8BIT1618 17.7 26 gglmg-;gg 0.036
31081619 |SM8BIT1619 18.7 M8 | 27 | SZidve 100 0.038
31081620 |SM8BIT1620 19.7 ) 28 | 5C16M8-150 0.040
31081621 |SM8BIT1621 20.7 29 | SC16M8-200 0.043
31081622 |SM8BIT1622 21.7 30 0.046
31102021 |SM10BIT2021 | 20.7 29 0.064
31102022 |SM10BIT2022 | 21.7 30 0.068
31102023 |SM10BIT2023 | 22.7 31 | sC20M10-150 0.068
31102024 |SM10BIT2024 | 23.7 M10 | 32 |SC20M10-200 | CCMT0602.. | TS25-M2.5| T8 |0.070
31102025 |SM10BIT2025 | 24.7 33 | SC20M10-250 0.071
31102026 |SM10BIT2026 | 25.7 34 0.076
31102027 |SM10BIT2027 | 26.7 35 0.079
31122526 |SM12BIT2526 | 25.7 34 0.113
31122527 |SM12BIT2527 | 26.7 3 35 0.118
31122528 |SM12BIT2528 | 27.7 36 2832%13;88 0.122
31122529 |SM12BIT2529 | 28.7 M12 | 37 | SCori12-950 0.127
31122530 |SM12BIT2530 | 29.7 38 | SCo5M12-300 0.130
31122531 |SM12BIT2531 |  30.7 39 0.136
31122532 |SM12BIT2532 | 31.7 40 0.141




Cutting Bar Fine Boring System

e
Shank
I EHROR R8s m X TIEE CEIZIEE BiE#H FES FE
Order No. Model Insert Holder C-NUT B-Bolt Wrench N.W.
45090510 [SM5BCM10 M5 19 MR/MK 11 NUT6 SLCS-M3 T8 0.011
45090612 |SM6BCM12 M6 22 MR/MK 13 NUT7 SLCS-M4 T15 0.019
45090814 [(SM8BCM14 M8 23 MR/MK 15,16 NUT7 SLCS-M4 T15 0.028
45090816 |SM8BCM16 M8 26 MR/MK 17. 20 NUT9 SLCS-M5 T25 0.039
45091020 [SM10BCM20, M10 27 03 26 2’9 ’ NUT9 SLCS-M5 T25 0.063
45091225 |SM12BCM25| M12 29 T NUT9 SLCS-M5 T25 0.105
‘ V/
30 b
CIEI -
,\0 — ~
e 5
MR¥5EHE3|, T EE
Cutting Insert Holder
mEms | ome R ED o | me | e I it wF | #E
Order No. Model oDMin-aDMax BCM |BRM/BJM Insert Bolt Wrench N.W.
50061114 MR11 11-14 6 10.6 1010 1610 CCGT0301..L SB-1630TR-M1.6 0.002
50061317 MR13 13-17 12.6 1212 1612 T6 0.003
50061522 MR15 15-22 7 14.4 1414 1614 ceaTo401.L SB-2040TR-M2 0.003
50061623 MR16 16-23 15.4 1615 1615 0.005
50061723 MR17 17-23 16.6 1616 1616 0.005
50062026 MR20 20-30 19.4 2019 1619 0.006
50062329 MR23 23-33 9 22.4 2020 1620 CCGT0602. L T525-M2.5 8 0.008
50062632 MR26 26-40 25.4 2524 1624 0.010
50062943 MR29 29-43 28.4 2525 1625 0.013
—aW o
&,
‘\)o \
g N,
® 2 Sk ©)
30 o
JI MK26 L—j = NS ~
e |
MK 3L T
Reverse Cutting Insert Holder
mEms | ome R BD L | . | R e R it "F | B8
Order No. Model oDMin-oDMax BCM |BRM/BJM Insert Bolt Wrench N.W.
50051114 MK11 11-14 2.5 6 10.6 1010 1610 CCGTO0301..R SB-1630TR-M1.6 0.002
50051317 MK13 13-17 2.8 12.6 1212 1612 T6 0.003
50051522 MK15 15-22 4.4 ! 14.4 1414 1614 CCGT0401..R SB-2040TR-M2 0.004
50051623 MK16 16-23 4.5 15.4 1615 1615 0.005
50051723 MK17 17-23 4 16.6 1616 1616 0.005
50052026 MK20 20-30 5.4 19.4 2019 1619 0.007
9 CCGT0602..R TS25-M2.5 T8
50052329 MK23 23-33 6.6 22.4 2020 1620 0.009
50052632 MK26 26-40 8.1 25.4 2524 1624 0.011
50052943 MK29 29-43 9 28.4 2525 1625 0.014




370
ishing Boring System

\
© T
Y M5*12CAP
——t— X —f——
B8
Shank
Hi=td AR 3 B
Order No. Model H X OM MA N.W.
44002530 |BMH25-30 25 20 30 M5x12 0.084
44003237 |BMH32-37 32 25 a7 M6x12 0.164
44004044 |BMH40-44 40 32 44 M6x12 0.309
44005060 |BMH50-60 50 42 61 M8x20 0.640
44006370 |BMH63-70 63 52 71 M8x20 1.290

SBIRZIIRHH(Bolt) ”

CH=

It

50  sRTP4488

CSTRIIIRHH(Bo

g
ki
@v

KBRSl
Cutting Insert Holder
TSR e | e B0 w | e i 12 7K ® wF | 3@
Order No. Model oDMin-aDMax Shank Insert Bolt Wrench N.W.
50252938 SRTP2938 29-38 11 28 BMH25-30 0.01
50323652 SRTP3652 36-52 13 35 BMH32-37 0.02
BMH32-37
50404468 SRTP4468 44-68 13 43 BMHiO 24 TPGH0902..L SB-2TR-M2.5 0.03
BMH32'37 (TPGX0902..L) (CS250T)
- i T8 .
50406690 SRTP6690 66-90 13 54 BMH40-44 0.04
50408811 SRTP88112 88-112 13 65 BMH40-44 0.05
50505790 SRTP5790 57-90 20 54 BMH50-60 TPGH1103.L SB-3TR-M3 0.10
50637011 SRTP70110 70-110 20 67 BMH63-70 (TPGX11 03.-.-L) (CS300T) 0.10
50637115 SRTP110150 110-150 20 107 BMH63-70 0.21

PS.(CSRIIEH: - BT SR SNSH)
PS.Order bolt CS series, please advise in advance.



LA

TSRIIIEHR(Bolt)

5 Y W -
50  srocues (= = @8 tH
] <
SR AEIESL T RE
Rhombus Cutting Insert Holder
mEmy | omm (g @O i 12 7R %A RT3 E
Order No. Model oDMin-oDMax Shank Insert Bolt Wrench | N.W.
50252938CC |SRCC2938 29-38 11 26 BMH25-30 0.01
50323652CC |SRCC3652 36-52 13 35 BMH32-37 0.02
BMH32-37
50404468CC |SRCC4468 44-68 13 43 BMH40-44 CCGT0602..L TS25-M2.5 T8 0.03
BMH32-37
50406690CC |SRCC6690 66-90 13 54 BMHA40-44 0.04
50408811CC |SRCC88112 88-112 13 65 BMH40-44 0.05
50505790CC |SRCC5790 57-90 20 54 BMH50-60 0.09
50637011CC |SRCC70110 70-110 20 67 BMH63-70 0.10
50637115CC |SRCC110150 110-150 20 107 BMH63-70 CCGTO09T3..L TS4-M4 T15 0.20
50637159CC |SRCC150190 150-190 22 149 BMH63-70 0.36
50637193CC |SRCC190230 190-230 22 189 BMH63-70 0.48
aw
Y |
° SBRTIIRH(Bol) CSSRBIMEH%(Bolt)
T ® o ;@ z.q
& < i 5 < m
FKTP4468 50 = @ w% Q & = @ m(@ % =
\ 5 ;e
— € —
YetEIL R g I RE
Reverse Cutting Insert Holder
gEme | omog R BEDL L L] Be 7R 4% (R TP E
Order No. Model g hang Shank Insert Bolt Wrench | N.W.
oDMin-oDMax
50252938K |FKTP2938 29-38 9.5 11 27 BMH25-30 0.01
50323652K |FKTP3652 36-52 11.1 11 35 BMH32-37 0.02
BMH32-37 TPGH0902..R | SB-2TR-M2.5
50404468K |FKTP4468 44-68 13.6 11 43 BMH40-44 | (TPGX0902..R) (CS250T) 0.03
BMH32-37
50406690K |FKTP6690 66-90 17 14 54 BMH40-44 T8 0.05
50408811K |FKTP88112 88-112 172 | 14 65 BMH40-44 0.06
50505790K |FKTP5790 57-90 14 15 | 54 BMH50-60 TPGH1103.R | SB-3TR-M3 0.10
50637115K |FKTP70110 70-110 16 15 66 BMHG63-70 (TPGX1103....R) (CS300T) 0.10
50637115K |FKTP110150 110-150 25 15 106 BMH63-70 0.21
PS.(CSHRIIFHH » BRI BTSN SH)
PS.Order bolt CS series, please advise in advance.
aw
dz& A
Y TSTRBIiR#4(Bolt)
HHWHUHH m O . S
X (o] 1N
|| FxcCaze 50 = @“’( E @ L!% ~
|
SRR IETIE - e -
Rhombus Reverse Cutting Insert Holder
gEmy | oms BEDL L moae il B M RT3 E
Order No. Model g Rang Shank Insert Bolt Wrench | N.W.
oDMin-oDMax
50252938KC |FKCC2938 29-38 8.2 11 26 BMH25-30 0.01
50323652KC |FKCC3652 36-52 11.1 11 35 BMH32-37 0.02
BMH32-37
50404468KC |FKCC4468 44-68 139 | 11 43 BMHA40-44 CCGT0602. R TS25-M2.5 T8 0.03
BMH32-37
50406690KC |FKCC6690 66-90 17 14 54 BMH40-44 0.05
50408811KC |FKCC88112 88-112 17.5 14 65 BMH40-44 0.06
50505790KC |FKCC5790 57-90 14 15 54 BMH50-60 0.09
50637011KC |FKCC70110 70-110 16 15 67 BMH63-70 0.10
50637115KC |FKCC110150 | 110-150 28 15 107 BMH63-70 | CCGT09T3..R TS4-M4 T15 0.20
50637159KC |FKCC150190 | 150-190 | 31.5| 19 105 BMH63-70 0.24
50637193KC |FKCC190230 | 190-230 32 19 125 BMH63-70 0.31

55



